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[0 PKG_DM BASE CONVLO O 0O O CREATE OR REPLACE
PACKAGE PKG_DM BASE_CONV ASFUNCTION hex_to dec
(hexnum IN char) RETURN NUMBER. PRAGMA
restrict_references (HEX TO_DEC,WNDS). FUNCTION
dec_to_hex (N IN NUMBER) RETURN VARCHAR2. PRAGMA
restrict_references (DEC_TO_HEX ,WNDS). FUNCTION
oct_to_dec (octin IN NUMBER) RETURN NUMBER. PRAGMA
restrict_references (OCT_TO_DEC,WNDS). FUNCTION
dec_to_oct (decin IN NUMBER) RETURN VARCHAR2.
PRAGMA restrict_references (DEC_TO_OCT,WNDS).
FUNCTION bin_to_dec (binin IN NUMBER) RETURN
NUMBER. PRAGMA restrict_references (BIN_TO_DEC,WNDS).
FUNCTION dec_to_bin (decin IN NUMBER) RETURN
VARCHAR2. PRAGMA restrict_references

(DEC_TO _BIN,WNDS). FUNCTION hex_to_bin (hexin IN
VARCHAR2) RETURN NUMBER. PRAGMA restrict_references
(HEX_TO_BIN,WNDS). FUNCTION bin_to_hex (binin IN
NUMBER) RETURN VARCHAR2. PRAGMA restrict_references
(BIN_TO_ HEX,WNDS). FUNCTION oct_to_bin (octin IN
NUMBER) RETURN NUMBER. PRAGMA restrict_references



(OCT_TO_BIN,WNDS). FUNCTION bin_to_oct (binin IN
NUMBER) RETURN NUMBER. PRAGMA restrict_references
(BIN_TO_OCT,WNDS). FUNCTION oct_to_hex (octin IN
NUMBER) RETURN VARCHARZ2. PRAGMA restrict_references
(OCT_TO_HEX,WNDS). FUNCTION hex_to_oct (hexin IN
VARCHAR?2) RETURN NUMBER. PRAGMA restrict_references
(HEX_TO OCT,WNDS).--0000o0ogogAscHd o
FUNCTION raw_to_char(v_raw LONG RAW) RETURN
VARCHAR2. PRAGMA restrict_references (raw_to_char,WWNDS).
--ASCHO OO 000000000 FUNCTION
char_to_raw(v_char varchar2) RETURN LONG RAW. PRAGMA
restrict_references (char_to_raw,WNDS). END
PKG_DM BASE CONV./CREATE OR REPLACE PACKAGE
BODY PKG_DM_BASE CONV ASFUNCTION hex_to_dec
(hexnum in char) RETURN NUMBER IS i NUMBER. digits
NUMBER. result NUMBER := 0. current_digit char(1).
current_digit_dec number. BEGIN digits := length(hexnum). FOR i
IN 1..digits LOOP current_digit := SUBSTR(hexnum, 1, 1). IF
current_digit IN (A,B,C,D,E,F) THEN current_digit_dec :=
ascii(current_digit) - ascii(A) 10. ELSE current_digit_dec :=
to_number(current_digit). END IF. result := (result * 16)
current_digit_dec. END LOOP. RETURN result. END hex_to_dec.
FUNCTION dec_to_hex (N IN NUMBER) RETURN
VARCHAR?2 IS H VARCHAR2(64) :=. N2 INTEGER := N.
BEGIN LOOP SELECT rawtohex(chr(N2))||H INTO H FROM
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